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ROIINO. ....ovvvnnn 143/A
Total No. of Questions : 24] _ [Total No. of Printed Pages : 8
SS
2038
ASTST udtfanr Yarat

'BUSINESS ECONOMICS AND QUANTITATIVE METHODS-II
(Commerce Group)
(Punjabi, Hindi and English Versions)
(Evening Session)

Time allowed : Three hours Maximum marks : 65

3¢ :

(Punjabi Version)
(i) wut BFg-Uzdt € eles U3 3 femraz/lud-ds @@ yd & fer-ds/dud-as
143/A 7gd €97 dd Hl |

(ii) @wwﬁ@@ﬁ@@ﬁﬁwé@ua@ﬁﬁnﬁvmmwu@w
w3 3ld gHed I& |

(iii) B3T3t &g st Us™/Ud 83 3 gmE J& dI3 I8 YHS/YHST ©F HEBIdE 3dT
3T wear |

(iv) Y§& U39 9 Fan g fmm famr & @€, 9w, gwi-g, »¥ IO-n) /

(v) -8 : g yas & 1 35 J2ar, I99 yrs R »a e Jear, figh e €39
1-15 meel &9 184 |

(vi) SN %ana£6§“12§aﬁaﬂa@aqmzﬂaf?ﬁéanﬁ§f?§%a
5-10 sfeat fg 189 |

(vii) STA-E : %anﬁ£13?213aﬁaﬁaéaqna4war?ﬁé‘aw/a“‘e?7qn3
398 Wgdl g5 | fegst © §39 15-20 mfest g G 1

(viii) - : €9 YAS & 22-24 3q vegsl 9 @8 JId, Jdd YAS 6 Mar €
Jear gt € 839 3-5 dlenr g sy |

(ix) B3I weHT fo39 g6 |

(x) YdrgHi 3° RasT AUGE ABIBed @d3E © wifgrr I | fefenradt mueT dsaded
Yt ges &g fewde | Ba gd 37 Haie & wifapm Sat Jeant |

Ia-8
1. 9% UigAs gmar i3 ferH3T gieig €t 9iesr & B39 ©H | 1
2. wo ¥g &t I ? 1
3. Q3uws ¥ U8 uzr 939 ° feadt 1,500 duB, ISt mew 300 duB w3 Wi3H mew
100 gug 9= ? 1
4. vefgg oSt dnt HZTRHT fedinii fe8° fort fa fedt v of fog | 1
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5. wad® O3S W3S ot I 7 1
3x1=5
CAL =)
6. J5 for 32 3 Hitwar u3T 39 - 2
6, 10, 8, 14, 12
7. femeg ¥ Y@ U3T IG5 € H3T ot I 7 2
8. wWualg &g =Pi e ot w9 I ? 2
9. winals & Wy HET Bt T € w9 e | 2
10. »raEt Quasht eAgn o Jei Jds ? Geddel s fenrfmr ag | 2
11. g Mt &t I ? 2
12. Y Wear of It I ? 2
7x2=14
CAL )
13. Jaf €3 3¢ 3 ¥Is8F T UIT d9 4
wa 0-10] 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
fefenmadtmi <t faredt | 5 7 12 15 18 8 3 5
14. I3t fodt Aget 3 Ypiu fevgse usT 99 0 4
Hagdt (qud) 0-10 | 10-20 | 20-30 | 30—40 | 40-50 | 50-60 | 60-70 | 70-80
HAEdT gt forest 6 10 20 40 30 20 10 4
15. ot f3 3¢ 3 Afee w9 HeaE @ 99 4
S 2010 | 2011 2012 | 2013 2014 2015
g3uws 25 27 30 24 28 29
16. X & Y €3 ytuwas mlade =@ - 4
X |14 |5 6 | 8 |11
Y |12 110 8 | 7 5
17. J& fafmit 3 IHSH wHES M3 WIB »HES UST 99 4
Het ECERLS
) feewt 3 yuz Hu »meEs 1,500
() =g 1,200
(8 fumfaz »mes 1,510
(m fenm 1,000
@ 3Ioua 2,000
@ I 900
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18.
Aaer I ? 9dor 99 | 4
19. &9 ©9 Au-fouzges <t Wy fedt 3, fenrfir a9 | 4
zo.mwfagaam?w»m&igaaa%ﬁ? 4
21. A3fB3 wve © 99 ¥39 foa | 4
Tx4=28
» gd-H
22. J5 fouft waet fég wifgmms »ifedt U3 a9 ® N=100 W3 HitmEar =30 92 ? 6
e 0-10 10-20 | 20-30 | 30-40 [ 40-50 |50-60
fefonraen €t forest 10 ? 25 30 ? 10
i
fég ot W§u I ? 6
GEIGINR R
0-10 100 16
| 10-20 50 6
; 20-30 40 10
| 30-40 80 8
| 40-50 20 4
50-60 10 2
23. foem gea ft 3 ? fem < qowfedt & fenrfor 39 | 6
Hr
| g ot T ? feme ot 9w T ? 6
24. J5 &g 3¢ 3 nEdH HYd Wa oz a9 |- 6
AT figgr A TI3HG H'SH
EQtES " a3 HS
(Que) (que) (que) (que)
A 10 80 6 12
B 12 144 6 24
C 6 60 2 16
D 2 8 4 48
o
Bzuwe Rt &% gHH wes fae Wit wet 9, fenrfimr F9 | 6
| 3x6=18
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(Hindi Version) .
(i) orl FUT-YRas % J&F Y% OT [A99-3s,/q0t-FI8 ad @ ¥ [Q9g-#sAut-ais 143/A oaeg
/g |
(i) FaR-YRasr dd & 7% §° Fre 3@ & & s69 ased died 30 99 & @7 @&l %4 4 €1
(iii) Sa-gRaer 4 @rdl sl T4 §8,/9%C] % YvEr &7 54 T4 q97,/9%7 H JediHT T8l B |
(iv) 997 97 @ a7 977 8 §ier T 81 (9%, -8, -7, SN 9F-g) |
(v) SF-%: Fge7 7. 1 85 & 59% 5997 1 7% #7 &, &7 gav 1-15 9=t 7 ot
(vi) W9 : T 597 7. 6 @ 12 7% &7, 59% 597 2 3% F &M, 7 Iax 5-10 @ 7 ford |

 (vii) NPT : F ge7 7. 13 @ 21 7% &, 59% 997 4 3% T &, 59 @ FF 7 99T B, T TV

15-20 @zt & ford 1

(viii) -9 : 7 997 7. 22 @ 24 % S5&H REq ard &rl, 99% 997 6 3% | &I, 7 T
3-5 o=t 7 g

(ix) F&TT % UK 37 F95 )

(x) @R 7% (Calculator) # 541 #3771 ST & 1 GOt o9wT To7% qhET a7 7 w7 o7 | 37
T gA% @ AT @ oA T el

AT-F
1. & REEs g Rar @ R e @ 99 &7 H g aad| 1
2. we-wEE R ! | 1
3. TORA # Y @ B0 Ak fa 1,500 s, geemh wfE 300 T o afww wiE
100 &9 &1 1
4. A A D TEres B § A B o B @ am R 1
5. ot S 9 e v 1
5x1=5
-9
6. = @ siiwet @ aAiftas Fd B | JRT
6, 10, 8, 14, 12

7. R @ ONE GRS HOGH 7 2
8. g IH%d IPi ¥ Fr o B 7 2
9. wEeE @ ge-aay fafy & & A o | 2
10. omerE TN A N AN § ? SereR fed e Ht| 3
11. g@amane? 2
12. @@ g@ w8 7 2
Tx2=14
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AT
13. 9 R siiwst @ g% a1 4 4
3 0-10 | 10-20 | 20-30 | 30-40( 40-50 | 50-60 | 60-70 | 70-80
ferenfofat = demn 5 7 12 15 18 8 3 =
14. 9 @ & gl @ 799 feem §1 &1 4
gl (B9 H) 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
EEFUETRe | 6 10 20 40 30 20 10 4
15. ﬁmmawmwmm: 4
I] 2010 | 2011 2012 | 2013 2014 2015 |
I 25 27 30 24 28 29
16. X & Y W SR GO ST 4
X456 |8 ]11
Y |12 |10 | 8 7 5
17. 43 R oiedl @ Ui o ol oy o I A 4
W 5 (F0e H)
(®) R @ < g G A 1,500
(@) 1,200
(m) Ml e 1,510
() = 1,000
(@ 2,000
(@ @ 900
18. TRER! 3fedT & AR T9q U a9 & oYK | Gge & MeRor S8 far o 99 8 ? == &1
4
19. 3% « 9@ feEw % ge R R, aren w1 4
20. g SATERG FX AR Ged MR BT 1 8 7 4
21. qgicrd o€ & Hig °R @ ke | 4
: Tx4=28
AR5
22, = @ E ARl ¥ o SmahE W &0 aik N=100 ofR @it = 30 &) 6
3P 0-10 | 10-20 [20-30| 30-40| 40-50 | 50-60
Rt a1 e 10 ? 25 30 | 2 10
143/A-SS ’ [Turn over
WWW. a2z paper s. com WwWw\. a2zpapers.com *®

Downl oad free old Question papers gndu, ptu hp board, punjab board


http://a2zpapers.com/
www.a2zpapers.com
http://a2zpapers.com/

a2zpapers. con

(6)
Fere _
A & el | g oTerel P IR oY oY € @ I 99 o gRedar ¥ wh ® 6
Y | =R & e 9 '
&I
0-10 100 16
10-20 50 6
20-30 40 10
30-40 80 8
40-50 20 4
50-60 10 2
23. TR o T § AR SHEH PR H e 1| . 6
STeFE
% @t gfam ot | 6 3 P B 7 6
24. ¥ Ru sieet @ Ry gEHS T F 6
. agd e af o ay

(Fw)  (em) (Fw)  (5W)
A 10 80 6 12
| B 12 144 6 24
C 6 60 2 16
D 2 8 4 48
m ; .
I ol @ TS e 9 ATd o @Rt @ 7w B 6

3x6=18

L (English Version)
Note : (i) You must write the subject-code/paper-code ~ 143/A in the box provided on the title
| page of your answer-book.
| (ii) Make sure that the answer-book contains 30 pages (including title page) and are
| properly serialed as soon as you receive it.
; (iii) Question/s attempted after leaving blank page/s in the answer-book would not be
| evaluated.

(iv) Question paper has been divided into 4 parts. Part-A, Part-B, Part-C and Part=D.

(v) Part-A : will consist of question no. 1 to 5 one mark each. Answer should be in 1-15
| words.
| (vi) Part-B : will consist of question no. 6 to 12 of two marks each. Answer should be in 5
| to 10 lines.
| (vii) Part-C : will consist of question no. 13 to 21. Each question carries 4 marks. Answer
should be in 15-20 lines. Attempt any 7 questions from this section.
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(viii) Part-D : will consist of question no. 22 to 24 having internal choice. Each question

carries 6 marks. Answer should be in 3-5 pages.

(ix) Make diagrams where necessary.

(x) The use of non programmable simple calculator is allowed. The student should bring
their own calculator in the examination hall. No borrowing will be permitted.

Part-A
1.  Give the formula of calculating Skewness given by Karl Pearson. 1
2.  Whatis Correlation ? L
3. Find the value of output if Sales Rs. 1,500/-, opening stock Rs. 300/- and closing stock
: Rs. 100/-. 1
4.  Write down any one name of Qualitative methods of monetary policy. 1
5. Whatis favourable balance of payment ? 1
5x1=5
Part-B
6. Find the median from the following data : 2
6, 10, 8, 14, 12
7. What is the formula of calculating Co-efficient of Range ? 2
8. Whatis meaning of ZPi in Index number ? 2
9.  Write down the two advantages of Spearman’s Rank Correlation method. 2
10. What are the non-durable consumer goods ? Explain with examples. 2
11. Whatis aggregate demand ? 2
12. What is the meaning of Credit Money ? 2
Tx2=14
Part-C
13. Find the mode from the following data : ‘ 4
Marks 0-10]10-20 | 20-30| 30-40 | 40-50 | 50-60 1 60-70 | 70-80
Number of Students | 5 7 12 15 18 8 3 5
14. Calculate the Standard Deviation from the following table : 4
Wages (in Rupees) [0-10 | 10-20 | 20-30 | 3040 | 40-50 | 50-60 | 60-70 | 70-80
No. of Workers 6 10 20 40 30 20 10 -+
15. Construct fixed base index number from the following data : 4
Year 2010 | 2011 | 2012 | 2013 2014 | 2015
Production | 25 27 30 24 28 29
16. Fitregression equationof XonY : 4
X | 4 6 | 8 |11
Y [12 |10 8 [ 7| 5
17. Find out the National Income and Domestic income from the following : 4
Items Rs. Crores
(a) Net factor income from Abroad 1,500
(b) Profits 1,200
143/A-SS [Turn over
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(c) Mixed Income 1,510

(d) Interest 1,000

(e) Salary 2,000

(f) Rent 900
18. Explain how can the equilibrium be determined according to classical approach on the basis of

savings and investments. -4
19. Explain How Bank Rate is the main tool of Credit control ? 4
20. Whatis the Specific Tax and Value Added Tax ? -+
21. Write down the four advantages of Balanced Budget. e

Tx4=28
Part-D

22. Find the missing frequency in the following table if N is 100 and Median 30. 6

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Number of Students 10 1 25 30 7 10

or

. a2zpapers. con
Downl oad free old Questi on papers gndu,

The following table gives the distribution of total population of those who are wholly or partially

WWW. a2z paper s. com

blind among them. Find out if there is any relation between age and blindness. 6
Age No. of persons Blind
in thousands
0-10 100 16
10-20 50 6
20-30 40 10
30-40 80 8
40-50 20 4
50-60 10 2
23. Whatis investment multiplier and explain its working ? 6
or
Define Bank. What are the functions of Bank ? 6
24. Calculate the Ideal Index number from the following data. 6
Commodity Previous Current Year
Price Value Price Value
inRs. inRs. inRs. inRs.
A 10 80 6 12
B 12 144 6 24
E 6 60 2 16
D 2 8 4 48
| or
How will you measure National Income by product method ? 6
_ 3x6=18
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